
https://www.geekcert.com/c1000-093.html
2024 Latest geekcert C1000-093 PDF and VCE dumps Download

 

 

 

C1000-093Q&As

IBM Cloud Pak for Integration v2020.1 Solution Architect

Pass IBM C1000-093 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/c1000-093.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

 

 

C1000-093 PDF Dumps | C1000-093 Practice Test | C1000-093 Study Guide                                1 / 4

https://www.geekcert.com/c1000-093.html
https://www.geekcert.com/c1000-093.html
https://www.geekcert.com/c1000-093.html


https://www.geekcert.com/c1000-093.html
2024 Latest geekcert C1000-093 PDF and VCE dumps Download

QUESTION 1

Which two Cloud Pak for Integration products can run in HA mode without the need for quorum? 

A. MQ 

B. App Connect Enterprise 

C. Aspera 

D. Event Streams 

E. API Connect 

Correct Answer: AD 

 

QUESTION 2

Which capability of the Cloud Pak for Integration secures the front door of a cloud native application? 

A. Messaging 

B. API Management 

C. App Connect Enterprise 

D. Event Streams 

Correct Answer: B 

 

QUESTION 3

What is the key benefit of moving away from a centralized ESB pattern to Agile Integration? 

A. Faster roll out of integrations, enhanced scalability, and resilience 

B. Rapid creation of integrations using no-code approach 

C. API-led integration enabling agility and innovation 

D. Multi-cloud deployment of integration artifacts 

Correct Answer: B 

 

QUESTION 4

A new proxy API needs to be created, security added, and published to the Sandbox catalog. Which is the correct
sequence of steps that should be taken to perform these tasks? 
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Select and Place: 

Correct Answer: 

 

 

QUESTION 5

Which two scenarios are true for a customer who buys licenses of Cloud Pak for Integration (CP4I)? 

A. Entitlements will be consumed when CP4I features like tracing, common services, and Platform Navigator are used 

B. Customer can use some of these entitlements for deploying WebSphere Application Server 

C. These entitlements can be used for deploying any capability that comes as part of CP4I 

D. Customer will need to purchase equivalent entitlements to Red Hat OpenShift Container Platform 

E. Customer can use these entitlements to run standalone version of components bundled in CP4I 
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Correct Answer: AC 
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